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(Fo)= (ZBHol)x (¥=°l)
(ol) = (1) + (24lol)
= 5425.92 + 452.16 = 12(cm)
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[> HEehl 153.86.cm?

_ (m@e] Wol) x (9]) olBZ
(AR Weo)— (25))+(5e])
1077.02 + 7 = 153.86( cm?)
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\12_56cm// \

(2 A9 do]) = (¢F) +3.14
=12.56 + 3.14 = 4(cm)

(2RO HFZ| 59| dol)=4+ 2 = 2(cm)
(Fo) = (B Hol) x (&°l)
=2x2x3.14x 7= 87.92(cm?)
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" ~--15.8cm--" |
6cm

2Apzteg o] 7h= o] Aolet WA &, o] Ed|o] do|rt genz
ANz =29 dol=
158x4+6x2=632+12 = 752(cm) Yt
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@ 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88cm?

(U] 9F)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(RH Q] BFZ] 5 )= 12.56 + 3.14 + 2 = 2(cm)
(BYlo]) =2x2x3.14x24 1256 X5

2
25.12 + 62.8 = 87.92( cm?)
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(9% 4759 Hu) =5x5x3.14%6

= 471(cm?®)
(LEX 97159 1)) =7x7x3.14x10
= 1538.6(cm?)

5 97159 2] o] A
1538.6 — 471 = 1067.6(cm?)
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6.7cm

~&B

(7h 259 ¥ 6x 6 x 3.14 X 15 = 1695.6( cm?)
(th) %% DY) 9x 9 x 3.14 = 254.34( cm?)
7h 289 2 (W) 259 F2od 29 &ol&=
1695.6 + 254.34 = 6.66--- — 6.7(cm)
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[ ]x0.25=18620|28

[ ]=18.62+0.25 = 74.48( cm?) YU},
whbA] 74.48 < 10.64 = 7(em) Y.
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(2= 2o =4)

= 452.16 + 3 + 8 = 18.84(cm)

(2wl WA g ] Zol)

=18.84 + 3.14 + 2 = 3(cm)

(51])= 3 x 3% 3.14 x 8 = 226.08(cm?)




